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HIH :2023%11A11H () 25 TR A /KK ToB10 (50m)

No. 44 BF 100m B A LL—RiRME xakg o7

L FEEDE > 256 _

K 4 KEE B RS 50m

=1 = BN AF 2N 3 1/ 5  52.66 24.89  10%% ( 0.69)
2 Tk =2vd TZHIEYASS H3 1/ 3 53.40 25.95  10%% ( 0.61)
3 Pk EHWF Flf:HE LS C P31/ 6 53.75 26. 04 9%k ( 0.64)
4 SeH TR Fpl] 0 7 ) — AN f3 1/ 4 53. 81 25.84  10%% ( 0.56)
5 A'E ANk I B s 2 X S L H3 1/ 1 55.19 26.35 9% ( 0.70)
6 KAE P “HHEENYSSC 3 1/ 7 55. 65 26. 93 8% ( 0.69)
TN Iz B 77 7~ AR 3 1/ 2 56. 32 27.35 8% ( 0.71)
8 mH A —HF My SC 3 1/ 8 57.90 27.01 7% ( 0.63)
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